No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

INVOICE

THE PRINCIPAL

M/S Sri Sairam College of Engineering

ANEKAL BANGALORE -

IN6556 NO.

Dated 11/03/2021

44/2021

09/03/2021

Order/Challan No:

Gr./AWB No & Date:

Dispatch Mode

Document Through :

Weight

Packages

0

Page No. Page 1 of 3

	ISBN	Author	TITLE	Cur	Qty	Price	Gross	Dis.%	Amount
1	256	M V RAO	A TEXT BOOK OF BASIC ELECTRONICS (SUB)	Rs	10.	180.00	1,800.00	22.00	1,404.00
3	9788121916677	RAJPUT	A TEXTBOOK OF FLUID MECHANICS (S CHAND)	Rs	2	850.00	1,700.00	22.00	1,326.00
3	9789352533848	RAJPUT	A TEXTBOOK OF HEAT AND MASS TRANSFER (SCHAND)	Rs	5	625.00	3,125.00	22.00	2,437.50
4	SUN0274	RAVI KUM/		Rs	10	180.00	1,800.00	22.00	1,404.00
5	1230	DrKSC	ADVANCED CALCULUS AND NUMERICAL METHODS (SUD)	Ŗs	10	370.00	3,700.00	22.00	2,886.00
6	9789353502355	ROTH	Analog and Digital Electronics (CENGA)	Rs	4	499.00	1,996.00	25.00	1,497.00
7	7334873	KESTOOR	APPLIED THERMODYNAMICS (vijaya)	Rs	5	260.00	1,300.00	22.00	1,014.00
8	SUD0074	KSC	CALCULUS AND LINEAR ALGEBRA MATHES FOR 1ST SEM ENGG (SUDHA)	Rs	15	430.00	6,450.00	22.00	5,031.00
9	9789388478632	DSC	COMPLEX ANALYSIS PROBABILITY AND STATISTICAL METHODS (PRISM)	Rs	10	345.00	3,450.00	22.00	2,691.00
10	4836	KSC	COMPLEX ANALYSIS PROBABILTY AND STATISTICAL METHODS 4TH SEM MATHEMATICS (SUDHA)	Rs	30	330.00	9,900.00	22.00	7,722.00
11	9789332518711	Hearn	COMPUTERS GRAPHICS WITH OPENGL (PEA)	Rs	10	969.00	9,690.00	25.00	7,267.50
12	9788120349391	ANAND KU	CONTROL SYSTEM (PHI)	Rs	3	495.00	1,485.00	25.00	1,113.75
3	9789352604180	MAHESHW	DATA ANALYTICS (TMH)	Rs	10	450.00	4,500.00	25.00	3,375.00
	9789386668448	PADMA RE	DATA STRUCTURES AND APPLICATIONS A SIMPLE AND SYSTEMATIC APPRAOCH (CENGAGE)	Rs	5	499.00	2,495.00	25.00	1,871.2
15	9789353504083	PADMA	DESIGN AND ANALYSIS OF ALGORITHMS (CENGAGE LEARNING INDIA PVT LTD)	Rs	20	375.00	7,500.00	25.00	5,625.00
16	9788126542314	Haykin	DIGITAL COMMUNICATION SYSTEMS (WIL)	Rs	8	739.00	5,912.00	20.00	4,729.60
17	9789388478397	DSC	discrets mathematical structures 6/ed (PRISM)	Rs	5	450.00	2,250.00	22.00	1,755.00
18	7002502	PRAVEEN	ELEMENTS OF MECHANICAL ENGINEERING FOR I/II (VIJAY BOOKS)	Rs	4	200.00	800.00	22.00	624.00
19	9789383214501	basavaraju	engineering physics (SUBHAS)	RS	10	300.00	3,000.00	22.00	2,340.00
20	4833	BASVARAJ	FIELD THEORY (SUBHAS)	Rs	3	480.00	1,440.00	20.00	1,152.00
21	9789353062392	ARUNABH	FUNDAMENTALS OF LTE (Pearson)	Rs	5	675.00	3,375.00	25.00	2,531.2
22	9789332575271	Connolly	FUNDAMENTALS OF WEB DEVELOPMENT (Pearson)	Rs	10	799.00	7,990.00	25.00	5,992.50

Continued To Page No.2

Carried Forward

194.00

65789.35

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

INVOICE

To THE PRINCIPAL

M/S Sri Sairam College of Engineering

ANEKAL BANGALORE -

: IN6556

Dated 11/03/2021

44/2021

09/03/2021

Order/Challan No: Gr./AWB No & Date:

Dispatch Mode

Document Through :

Packages

Page No. Page 2 of 3

Brought Forward

10400

_	Brought Forward				194.0			65789.35	
No	ISBN	Author	TITLE	Cur	Qty	Price	Gross	Dis.%	Amount
23	9788131705735		FUNDMENTALS OF COMMUNICATION SYSTEM (Pearson)	Rs	3	999.00	2,997.00	25.00	2,247.75
24	9789352533817		GENERATION OF ELECTRICAL (S CAHDN)	Rs	2	575.00	1,150.00	22.00	897.00
25	9789332570351		HADOOP 2 QUICK START GUIDE LEARN THE ESSENTIALS BIG DATA (Pearson)	Rs	15	490.00	7,350.00	25.00	5,512.50
26	9789339223199	cengel	HEAT AND MASS TRANSFER (TMH)	Rs	1	799.00	799.00	25.00	599.25
27	9789332560130		INTRODUCTION TO DIGITAL SIGNAL PROCESSING (Pearson)	Rs	2	529.00	1,058.00	25.00	793.50
28	9788131501726	STRANGE	LINEAR ALGEBRA AND ITS APPLICATION (Thomson)	Rs	9	550.00	4,950.00	25.00	3,712.50
29	SU0001	KESTOOR	METAL CUTTING AND FORMING (SU P)	Rs	5	150.00	750.00	22.00	585.00
30	9788126554270	silberschat	operating system concepts (WIELY)	Rs	5	669.00	3,345.00	25.00	2,508.75
31	9788131732663	SENIOR	OPTICAL FIBER COMMUNICATIONS PRINCIPLES (Pearson)	Rs	2	899.00	1,798.00	25.00	1,348.50
32	9788131508688		PROBABLITY STATISTICS AND RANDOM PROCESSES FOR ENGINEERS (CEN)	Rs	15	425.00	6,375.00	25.00	4,781.25
33			PROGRAMMING IN ANSI C (TMH)	Rs	5	525.00	2,625.00	25.00	1,968.75
4			SOFTWARE ENGNEERING 10/ED (Pearson)	Rs	5	929.00	4,645.00	25.00	3,483.75
13	9789332555082	Streetman	SOLID STATE ELECTRONICS (Pearson)	Rs	6	679.00	4,074.00	25.00	3,055.50
			*						
onti	nued To Page No.3	C	arried Forward		269 00				

Carried Forward

269.00

97283.35

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

INVOICE

To THE PRINCIPAL

M/S Sri Sairam College of Engineering

ANEKAL

BANGALORE -

NO.

Packages

: IN6572

Dated

15/03/2021

Order/Challan No:

your order

15/03/2021

Gr./AWB No & Date:

Dispatch Mode

Document Through :

: 0

Weight

Page No. Page 1 of 1

No	ISBN	Author	TITLE	Cur	Qty	Price	Gross	Dis.%	Amount
1	9781259064753	FOROUZAN	DATA COMMUNICATION AND NETWORKING (TMH)	Rs	10	865.00	8,650.00	25.00	6,487.50
)	7002502	PRAVEEN	ELEMENTS OF MECHANICAL ENGINEERING FOR I/II (VIJAY BOOKS)	Rs	1	210.00	210.00	22.00	163.80
3	9788128002212	DAS	KINEMATICS OF MACHINES (SAPNA)	Rs	3	350.00	1,050.00	22.00	819.00
		8				5			
			1			7			
tata	al .			QTY.	14	Gross	9,910.00		7,470.3

0.00

IN WORDS

Rs. Seven Thousand Four Hundred Seventy Only

Exchange Rates: Rs - 1.00

Grand Total

7,470.00

BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME: SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

TERMS & CONDITION

E. & O. E.

For

SRI BOOK WORLD

- 1. Certified that correct Publishers's Price have been Charged.
- 2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been
- charged 3. Books supplied are in accordance with the order hence will not be taken back.
- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6. All disputes are subject toBangalore Jurisdiction only.

MANAGER

Developed & Designed By Spring Time Software Contact Us: 25920788 / 45091750

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

INVOICE

To THE PRINCIPAL

M/S Sri Sairam College of Engineering

ANEKAL BANGALORE - NO.

: IN6649

Dated

30/03/2021

Order/Challan No:

SCE/PO/LIB/044/2021

30/03/2021

Gr./AWB No & Date :

Dispatch Mode

Packages

Document Through : .

0

Weight 0

Page No. Page 1 of 1

No	ISBN	Author	TITLE	Cur	Qty	Price	Gross	Dis.%	Amount
1	9789353502355	ROTH	Analog and Digital Electronics (CENGA)	Rs	1	499.00	499.00	25.00	374.25
7	9780070636774	SCHILDT	JAVA THE COMPLETE REFERENCE (TMH)	Rs	4	999.00	3,996.00	25.00	2,997.00
3	9788131732663	SENIOR	OPTICAL FIBER COMMUNICATIONS PRINCIPLES (Pearson)	Rs	5	899.00	4,495.00	25.00	3,371.25
									-
at,	al		ļ	QTY.	10	Gross	8,990.00		6,742.5

0.00

IN WORDS

Rs. Six Thousand Seven Hundred Forty Three Only

Exchange Rates: Rs - 1.00

Grand Total

6,743.00

BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME: SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

TERMS & CONDITION

E. & O. E.

For

SRI BOOK WORLD

1. Certified that correct Publishers's Price have been Charged.

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

sharged 3. Books supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6. All disputes are subject to Bangalore Jurisdiction only.

Developed & Designed By Spring Time Software Contact Us: 25920788 / 45091750

MANAGER 2662430 26608365 41205673 ವಿಶ್ವೇಶ್ವರಯ್ಯ ತಾಂತ್ರಿಕ ವಿಶ್ವವಿದ್ಯಾಲಯ "ಜ್ಞಾನ ಸಂಗಮ", ಬೆಳಗಾವಿ - 590 018

esi. salgam engg.

, 60,100011

ರಶೀದಿ ಪುಸ್ತಕ

ದಿನಾಂಕ: 25 02 2021

193

ಅ.ಸಂ.	ಪುಸ್ತಕದ ಹೆಸರು	ಚೆಲೆ	ಒಟ್ಟು ಪುಸ್ತಕಗಳು	ಒಟ್ಟುಹಣ
17	१०५३ वर्ष हत्यात्र	sor	20	1,0001
- 1	The Constitution and	1601	20	1,2001
27	was some and some	.22915	o bruch	1
(A 2022	(Exam)	
	fil		w. SaV	
	The second of the second	/ez		
	7	1	Daved	/
	Ingroupel		nature "	
			ಒಟ್ಟು	2,2001

ಅಕ್ಷರಗಳಲ್ಲಿ ಒಟ್ಟು ಹಣ Tho thousand two hundred only.

ಹಣ ಪಡೆದವರ ಸಹಿ

29/02/2021



No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

INVOICE

To THE PRINCIPAL

M/S Sri Sairam College of Engineering

ANEKAL

BANGALORE -

NO.

Packages

: IN6372

Dated 17/12/2020

Order/Challan No:

your order

17/12/2020

Gr./AWB No & Date:

Dispatch Mode

Document Through :

0

Weight

Page No. Page 1 of 1

No	ISBN	Author	TITLE	Cur	Qty	Price	Gross	Dis.%	Amount
1	9789353066260	-	entrepreneurship development and small b ()	Rs	2	499.00	998.00	25.00	748.50
7			Sn Sairam College of E	<u> </u>	को हत <u>व</u> हे				
			Carrified that the confe.	1.					
			bill has been received price	£ ₹*					
			with the book or catal	50.40	18324				
			found correct. These b	440	been				
			taken into stock.						
			Vide Acc. No. 24179	24	180	,		.^	
			Page 91 to 5 young	e 	IX.	volEn	ng Acc	en K	egister
			Date: 09/03/2021						~
			Librarian	Pi	ncipal	13 03 24			5
	al			QTY.	2	Gross	998.00	-	748.5
Li	31		Twom.	QII.	24	01035	223100		0.00
NW	ORDS Rs. Se	even Hundi	red Forty Nine Only						

Exchange Rates: Rs - 1.00

Grand Total

749.00

BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME: SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

TERMS & CONDITION

E. & O. E.

For

SRI BOOK WORLD

1. Certified that correct Publishers's Price have been Charged.

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

Sharped supplied are in accordance with the order hence will not be taken back.

4. Out Stations should be made by Bank Draft / Payable at Bangalore.

5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

6. All disputes are subject toBangalore Jurisdiction only.

MANAGER

Developed & Designed By Spring Time Software Contact Us: 25920788 / 45091750